
 1

 

 
Macurco™ CME1-IAK  
Installation Instructions 
 
CM-E1 Adaptor Kit: 2-Gang to Single-
Gang Adaptor Plate Kit (CM-15/15A to 
CM-E1 Conversion Kit) 
 
Contents of this kit: 2 – 6-32 x 1/2” 
Machine Screws, 4 – 6-32 x 1” machine 
screws, 1 – CM-E1 Adaptor Plate, 6.5 X 
4.5 X 0.25 in. (16.5 x 11.4 x 0.64 cm) 
       

Please refer to the CM-E1 User Instructions 
for addition installation information and 
warnings 
 
 

 

 
 

 

MACURCO FIXED GAS DETECTION 
PRODUCTS LIMITED WARRANTY 

Macurco warrants this kit will be free from 
defective materials and workmanship for a 
period of two (2) years from date of 
manufacture provided it is maintained and 
used in accordance with Macurco instructions 
and/or recommendations. If any component 
becomes defective during the warranty 
period, it will be replaced or repaired free of 
charge, if the unit is returned in accordance 
with the instructions below. This warranty 
does not apply to units that have been altered 
or had repair attempted, or that have been 
subjected to abuse, accidental or otherwise. 
The above warranty is in lieu of all other 
express warranties, obligations or liabilities. 
THE IMPLIED WARRANTIES OF 
MERCHANTABILITY AND FITNESS FOR 
PARTICULAR PURPOSE ARE LIMITED TO 
A PERIOD OF TWO (2) YEARS FROM THE 
PURCHASE DATE. Macurco shall not be 
liable for any incidental or consequential 
damages for breach of this or any other 
warranty, express or implied, arising out of or 
related to the use of said gas detector. 
Manufacturer or its agent’s liability shall be 
limited to replacement or repair as set forth 
above. Buyer’s sole and exclusive remedies 
are return of the goods and repayment of the 
price, or repair and replacement of non-
conforming goods or parts. 
 
 
Manufactured by Aerionics, Inc.  
Sioux Falls, SD 
Email: info@aerionicsinc.com 
Phone: 1-877-367-7891 
Rev 09.24.2014 
© Aerionics 2014. All rights reserved.  
Macurco is a trademark of Aerionics, Inc. 
 

 



 2

 
 
 
 
 

               
 

A. 1 - CM-E1 Detector 
B. 2 – 6-32 x 1/2” Machine Screws 
C. 1 – CM-E1 Wall mounting mid-plate 
D. 4 – 6-32 x 1” machine screws 
E. 1 – CM-E1 Adaptor Plate 
F. 1 – “2-Gang” Electrical Box 

 

A. 1 - CM-E1 Detector 
B. 2 – 6-32 x 1/2” Machine Screws 
C. 1 – CM-E1 Wall mounting mid-plate 
D. 4 – 6-32 x 1” machine screws 
E. 1 – CM-E1 Adaptor Plate 
F. 1 – 2 gang Switch Mounting Plate. 
G. 1 – “4x4” Electrical Box 

 
 

 
 
 

                                                                               


